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A=/ NE |

public class Ik1 {!
public static void main(Stringl] args) {4

int a,b,ci!
az a3l
h= 3;1
c= afh:l
I System.out .print Infcist
il
YIEDF]
T rI 821

import java.io.x; S/E—R—- FAHRAE LU GHRITH
public class IkZ 1 {
public static void maini{String args[]) throws I0Exception{!
T S EMthrows LI IZKITL

int a;!
Buf feredReader br= new BufferedReader( //KI7 N
new InputStreamReader (System.in)); //KI7L

1
fi--—- OS5 LEEFL - ,
Svstem.out .print In({"SE8E M AL T CHEET)0
a= Integer.parselnt (hr.readline());!
az a+l;:l
Systen.ou {

! .
VoS-I DY
rur g nh2.2

import java.io.®;l
public class IkZ? 2 { |
puhlictstatic void main(Gtring args[]) throws [0Exception{t
int a3l
Buf feredReader br= new BufferedReader (L
new InputStreamReader (Svstem.indd;L

8
Svstem.out .print In({ B8 FE N OL T CEE07050
a= Integer.parselnt (br.readline{) ;.
} Svetem.out .print Infa+1); .
i
V[EOF]

u /o523

import java.io.x; L
public class IkZ? 3 { |
public static void main(String arzs[]) throws 10Exception{
double r;!
BufferedReader hr= new BufferedReader( //KITL N
new InputStreanReader (System.in)); /F/KITY

.
Svstem.out .print In("E8E M AL T CHEE07)50
r= Double.parseboubledhr.readline ()04
Fr=r % 1.4;1
| System.out.print Infris
1
¥ JECF]
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public class Ik3_1 {!
public static void main(Stringl] arzs) {.

int i:
iz 05t
iz i+1;:4
i= i+l;4
iz i+1;.
} System.out .printiniijsd
1
YIEOF]

o532

public class k3 7 {!
public static void main(8tring[] args) {!

int i;!}
i= 034
P++;)
i++;)
j++3L
} Bvstem.out .printIn{i);d
1
Y[EOF]
s T A4

import java.io.®;l
public class Ikd f L
Puhlictstatic void main(String args[]) throws [0Exception{!
int a3l
Buf feredReader br= new BufferedReader (.
new InputBtreamfeader (Svstem.in)); !l

8

az Integer.parselnt (br.readline{) ;4

if{ a==0){.

} Svetem.out.print In{"F 07154

i

1l

YIEOF]
A=A VNI

import java.io.®;l
public class Ik§ |
Puhlictstatgc void main(String args[]) throws [0Exception{!
int a, hil
BufferedReader hr= new BufferedReader(!
new InputStreamfeader (Svstem.in));!l
1
az Integer.parselnt (br.readline())
b= Integer.parselnt (br.readline(])
if (a<h) ISvstem.out .print Inch);
else iSvstem.out .print Inia)

T

Y[ED
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import java.io.%:l
public class [kB o
public static void mainiString args[]) throws I0Exception{!
int a, hit
Buf feredReader br= mew BufferedReader (.
new InputStreamfeader (System.ind);
1
az Integer.parselnt (br.readline ()03
b= a%?;! »
if(h==0){8vsten.out .print In{"fBEI") ;1
} else{ Svstem.out.printIn{"ZH");11
1
YIEQF]

A=A N4

import java.io.x;!
public class k7 |
public static void main(8tring arzgs[]) throws I0Exception{!
int a, h, c:d
Buf feredReader br= new Buf feredReader (.
new InputStreamReader (System.in));l
.

a= Integer.parselnt (br.readline)); .
h= Integer.parselnt (hr.readline(});!
if(a<h){c= b-a;ll
else! c= a-h;}!
System.out.print Infc)sd

1l
Y[EOF]
A=Y AN

public class IkR {!
public static void main(String[] args) {4
int sowasl
sowaz=0; L
for(int i=0; i<100; i++) {.
sowa= sowa + [i+1);4

Yl
} Svstem.out.print In{sowal;!
.
YIEOF]
=07 A VN®

public class Ik9 {!
public static void main(Stringl[] args) {4
for( int i=0; i<10; i++){}
Svsten.out .printind “hella™);!
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public class Ik10 {!
public static void main(Stringl] args) {4

for{ int i=0; i<10; i++

I

System.out .print Infil;

[yt

!
¥ [EOF]

TarsIh11
public class Iki1 {4

public static void main(Stri
for{ int iz0; i<10; i++
Svsten.out.print Indi

T

1
¥ [EOF]

Targona1 2.1
class Ik1Z 11{!

[yt
1

public static void m
int all = { 1,2,

Swstem.out .print
Bvstem.out .print
vstem.out .print
Swstem.out .print
Bystem.out .print
L

T

Tur7 58122

class Ik12_2 {1

11

public static void main(5t
int El.[] = { 1:2!3!4

for( int i=0; i<5; i+
Svstem.out .print (

1

Tur7513

class [k13{.
public static void main(Strlng args[1 {4

int al]l = {1,2.3,4,58 };:¢
for{int i=0; i<B; i++){!

alil= 031

Svstem.out .printini™a

1Ng
I
i+1

w o+

[1 ares) {4
134

i+7="+alill);
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class Ik14{L
public static void main(Str g args[1) {4
int al] = { 1,2,3,4,5 }:!
1
forlint i=0; i<G; i++){}
System.out .print (alill; !
Svstem.out .print(™,71:4
L
1l
bl
oI 515
class Ik15{!L N
public static void main(String aregs[]1){}
int K1[] = { 5,2,3,4.8 };!
int sowa;!
1
sowa=0;+
for({ int i=0; i<5; (++){!
} sowaz sowa + hi[il;d
i
} Svstem.out .print (sowal; !t
i
bl
T rgI 516
class IkIG{. -
public static void main(String args[1){:

forlint i=0; i<G; i++){}
ifikarimax< h1[|]){¢
karimax= hi[i];}
Tl
Tl
} Svstem.out .print (karimax); !
i
bl
A =2/ NE W

class Iki17{!

int h1[] = { 5.,2,3,4.,8 };L
int karimax=0;4
1

public static void main(Str

for{int i=0; i<5; i+

1
int h1[] = { 5,2,3,4,8 i

for(int i=0; i<4; i++){}

hi[il= hi[i+1];L

bl
+11
Svstem.out .print (hi
Svstem.out .print 7,

[yt

4
[
ar

gargs[1){

A
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class Ik13{!

public static void main(String args[]1){4
int h1[] = { 5.,2,3,4,8 };L

i
for(int i=0; i<d4; i++1{}
| hi[d-il= h1[3-il;L
+
forlint i=0; i<G; i++){}
Swstem.out .print Ch1[i1)s¢
System.out .print {7,705
bl
Tl
bl

7ur772519.1

import java.io.®;l
public class Tk19_1 -
public static void main(String args[]) throws I0Exception{!
double ra,rb,rcsl
Buf feredReader br= new BufferedReader (L
new InputStreanfeader (System.in)d;!

1
raz Double.parseboubleibr.readline ()] ;4
rb= Double.parseloublelbr.readline() ;L
rc= (ra + rb)/2;1
| Svstem.out .print (rcl;d
1
YIEOF]

Tur77 5192

import java.io.®;l
public class Ik19_2 I
public static void main(String args[]) throws I0Exception{!
int a,b.ci!
Buf feredReader br= new Buf feredReader (.
new [nputStreanReader (System.in));l

L
a= Integer.parselnt (br.readline() ;4
h= Integer.parselnt (hr.readline());!
c= (a +h) F2;4
| System.out.printic);d
1
YIEOF]

v 75193

import java.io.x;l

public class [k19_3 I 4

public static void main(String args[]) throws [0Exception{!
int a,h,ci
double rc;!
Buf feredReader br= new BufferedReader (.
new InputStreamReader (Svstem.indd;L

a= Integer.parselnt (br.readline());
b= Integer.parselnt (hr.readlinei)); .
re= (fdouble)a+ (doublelh) 2;1
Svstem.out .print (rcl;d
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import java.io.x;l
public class IkZ0D |
public static void main(String args[]) throws I0Exception{!

1
}EOF]

int a, h;!
Buf feredReader br= mew BufferedReader (L

new InputStreanReader (Svstem.in));d

1

az Integer.parselnt (br.readline())
b= Integer.parselnt (br.readline())
if(a==h) {Svstem.out .print (&1 7);
else{Svsten.out.print ("5 7151

Tl
Tl
Ll

Tur7h21

class Ik21{!L
public static void main(String ares[]1){}

T
1

int a,h,c;!

1

az 3;4

b= 754

Svstem.out .print(a + 7.7 + hi;l
Svstem.out.printIn(); //29T.

C= oast

az h;t

h= 3l

Svstem.out.print(a + 7,7 + his!

T T N2 2

import java.io.¥; )
public class IkZ2 | |
public static void main(String args[]) throws I0Exception{!

double hankei.menseki;
Buf feredReader br= mew BufferedReader (L
new [nputStreanfeader (Svstem.ind);d
1
hankei= Double.parseboublelbr.readline()); !
menseki= hankei # hankei % 3.14:1L
Svstem.out .print (mensekil;!



T rgI 523
import java.io.x;l
public class Ik%3 { |
public static void main(3tring arzs[]) throws [0Exception{!
int a3l
BufferedReader br= new BufferedReader(!
new [nputStreanfeader (Svstem.ind);
1
a= Integer.parselnt (br.readlinei)) ;.
iff a== 1) {1
} Svstem.out .print ("—");1
.
else{l
} Swstem.out .print ("—LI87050
.

Tl
¥ [EOF]

Tnr77 5241

import java.io.x;l
public class IkZ4 1 A
public static void main(String args[]) throws [0Exception{!
int m, kaijoi:l
Buf feredReader br= new Buf feredReader (L
new InputStreanReader (Svstem.in)d;e
1
m= Integer.parselnt (br.readline());!
kaijo = 1;4
for (int @ = 0; 0 < m; i++){)
} kaijo = kaijo £ { i+1 );4
L
} Svstem.out .print (kaijol;d
.
YIEQF]

TurI 5242

import java.io.#;!
public class Ik#4 2 I
public static void main(String args[]) throws [0Exceptionf{!
int m, kaijo;!
Buf feredReader br= mew Buf feredReader (1
new InputStreanReader (System.in) )il

1
m= Integer.parselnt (br.readline());!
kaijo = 1;4
for Cint 0 = 15 0 <= m: i++){!

| kaijio = kaijo % i;!
1
Bvstem.out .print (kaijo);!

T

Y[ED
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import java.io.k;l
public class IkZ5 | &
public static woid main(String args[]) throws [0Exception{!
int a,b.k;!
BufferedReader br= new BufferedReader(!
new InputStreanReader (Svetem.ind); L
1
a= Integer.parselnt (br.readline()); .
b= Integer.parselnt (br-readline());

k=1;1
for (int i = 0: 0 < b i++1{4
k =k % a;l
bl
} Svstem.out .print (k)4
i
VIEDF]
T rI 826

import java.io.%; !
public class Ik%F { 4
public static void main(String arzs[]) throws I0Exception{.
int ans.m; !t
BufferedReader br= new BufferedReader(!
new InputStreanfeader (Svstem.ind);l
1
ans = Cint)(Math.random()%10);//0~9DE B E{ESD L
forlint i=0; i<5; i++){4
m= Integer.parselnt (hr.readline());!
if( mrans) {L

} Svstem.out .print ("R ETH ET750
1

if( m<ans) {1
Svstem.out .print (™ EFTF FF7);0

1

if( m== ans){L

} Swstem.out .print ("0l
1

!
1 [EOF]
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immtmmeH AE—F—FAH KB AEIZUAL
public class Ifhund T
1

public static void main{String arzs

[]
e A EDth
f-—-EWEE
double hankei, menseki;!

BufferedReader br= new BufferedReader( //K BFﬁEﬁiﬁb il
new InputStreamReader (Svstem.in)); // (L& o737 f% y
.

H"rjﬂﬁﬁhﬁﬁ¢
Swstem.out .print In("FF%F A DL T I,
hankei= Double.parseDouble(br.readline()); //—-
menseki= hankei * hankei % 3.14; //——-@FEFHE!L
if ( menseki > 1007{
\ Swvstem.out .print In{"=F—15—="7;.

1
VoA fmainmiEYdh e gl

4
P A =T bunDDEE LM - O [EOF]

) throws I0Exceptionfl
rowsI FIZE BRE 171

a7 528
immtmmeH HAE—FR—FAH BB REFELL
public class [fElsebund [ 4

' public static void nain(String args

(]
o 7/ EDLh
(---EMEE

double hankei, menseki;!
BufferedReader br= new BufferedReader( /M BRAE XL Al
new InputStreanReader (System.in)d; A/ (E& 2770 18

I
H"rjﬂﬁihﬁﬁ¢

System.out .print In{"3FIEFAL DL T CEE 7050
hankei= Double.parseboubleibr.readline()); //--
mensekiz hankei % hankei % 3.14; //-—-EHFETEL
if ( menseki > 10){. X
Swstem.out .print In{"=F—25—="1;1

J throws I0Exceptionfl
rowslFIZE_BRE £ 10751

b

»

-EWMEANL

bl
else{l
| Svstem.out .print In{ 0K ;0
8
VoA mmainDEYDh e gl

+
VA ——-IfElsebun0MEE L) M A« 3 [EOF]



